
ASSEMBLY INSTRUCTIONS MANUAL
#60863 #60873 #60874 60875

CHROME OUTRIGGER SYSTEM KIT 1-4

PAGE 1 OF 26



PAGE 2 OF 26

ASSEMBLY INSTRUCTIONS MANUAL
#60863 - CHROME OUTRIGGER SYSTEM KIT 1



PAGE 3 OF 26

PARTS IN CARTON:

ASSEMBLY INSTRUCTIONS MANUAL
#60863 - CHROME OUTRIGGER SYSTEM KIT 1

CHROME OUTRIGGER 
UPRIGHTS 
(2 EACH)

4’ CHROME DIMENSIONAL 1/2” X 1 1/2” HANGRAIL 
(1 EACH)

3" CHROME DIMENSIONAL 
HANGRAIL BRACKETS 

(2 EACH)

3" ROUND CHROME 
HANGRAIL BRACKETS  

(2 EACH)

1 1/4” DIAMETER HANGRAIL 
(1 EACH)

CHROME END CAPS FOR 
ROUND  HANGRAILS 

(2 EACH)

CHROME FLUSH END CAPS 
FOR DIMENSIONAL HANGRAIL 

(2 EACH)

CHROME OUTRIGGER 
UPRIGHT BRACKETS

 (4 EACH)
SET SCREWS 

(4 EACH)



PAGE 4 OF 26

PARTS IN CARTON:

ASSEMBLY INSTRUCTIONS MANUAL
#60863 - CHROME OUTRIGGER SYSTEM KIT 1

HARDWARE THAT NEEDS TO BE PURCHASED

DRYWALL ANCHOR 
(8 EACH)

#8 COUNTERSINK 
SCREW (8 EACH)

THESE PARTS WILL NEED TO BE PURCHASED AT YOUR LOCAL HARDWARE 
STORE. THE RECOMMENDED HARDWARE FOR THIS INSTALL, (8) #8 
COUNTERSINK SCREWS AND (8) 3/16 ANCHORS. IF MOUNTING TO STUDS, 
USE (8) #8 COUNTERSINK SCREWS AND 3/16 DRILL BIT.

YOU WILL NEED TO SUPPLY YOUR OWN TAPE MEASURE, LEVEL,  
DRILL OR SCREWDRIVER FOR INSTALLATION. 



PAGE 5 OF 26

STEP 1

ASSEMBLY INSTRUCTIONS MANUAL
#60863 #60873 #60874 60875

CHROME OUTRIGGER SYSTEM KIT 1-4

THE OUTRIGGER BRACKETS SHOULD BE MOUNTED 15" FROM THE FLOOR, 
66" BETWEEN THE TOP AND BOTTOM BRACKET, AND 47" IN BETWEEN THE 
BRACKETS. MARK THE MOUNTING LOCATIONS OF EACH (SEE FIGURE 1). 
NOTE: IT IS POSSIBLE TO USE THE UPRIGHTS AS AN ALIGNMENT TOOL TO 
ENSURE FINAL BRACKET POSITION.

FIGURE 1

15"

47"

66"



PAGE 6 OF 26

STEP 1.1

ASSEMBLY INSTRUCTIONS MANUAL
#60863 #60873 #60874 60875

CHROME OUTRIGGER SYSTEM KIT 1-4

15"

47"

66"

INSTALL DRY WALL ANCHORS INTO EACH HOLE, THEN MOUNT THE 
BRACKETS WITH THE COUNTERSINK SCREWS.



ASSEMBLY INSTRUCTIONS MANUAL
#60863 #60873 #60874 60875

CHROME OUTRIGGER SYSTEM KIT 1-4
STEP 2
AFTER MOUNTING THE OUTRIGGER BRACKETS, HANG THE OUTRIGGER 
UPRIGHTS, BY ALIGNING THE SLOTS IN THE OUTRIGGER UPRIGHTS WITH 
THE HOOKS ON THE OUTRIGGER BRACKETS. (SEE FIGURE 2)

PAGE 7 OF 26

FIGURE 2



ASSEMBLY INSTRUCTIONS MANUAL
#60863 - CHROME OUTRIGGER SYSTEM KIT 1

STEP 3

STEP 4

INSTALL THE 3” CHROME DIMENSIONAL HANGRAIL BRACKETS ON TO THE 
BACK OF THE OUTRIGGER UPRIGHTS. (SEE FIGURE 3)

PLACE THE 3” CHROME DIMENSIONAL HANGRAIL INTO THE BRACKETS 
THEN INSERT THE ENDCAPS INTO EACH END. (SEE FIGURE 4)

PAGE 8 OF 26

FIGURE 3

FIGURE 4



ASSEMBLY INSTRUCTIONS MANUAL
#60863 - CHROME OUTRIGGER SYSTEM KIT 1

PAGE 9 OF 26

STEP 5
INSTALL THE 3" ROUND CHROME HANGRAIL BRACKETS ON TO THE BACK 
OF THE OUTRIGGER UPRIGHTS. (SEE FIGURE 5)

FIGURE 5

FIGURE 6

STEP 6
PLACE THE 3” ROUND CHROME HANGRAIL THROUGH THE BRACKETS THEN 
INSERT THE ENDCAPS INTO EACH END. (SEE FIGURE 6)



PAGE 10 OF 26

ASSEMBLY INSTRUCTIONS MANUAL
#60873 - CHROME OUTRIGGER SYSTEM KIT 2



PAGE 11 OF 26

PARTS IN CARTON:

ASSEMBLY INSTRUCTIONS MANUAL
#60873 - CHROME OUTRIGGER SYSTEM KIT 2

CHROME OUTRIGGER 
UPRIGHTS 
(2 EACH)

4’ CHROME DIMENSIONAL 1/2” X 1 1/2” HANGRAIL 
(1 EACH)

3" CHROME DIMENSIONAL 
HANGRAIL BRACKETS 

(2 EACH)

12" CHROME SHELF BRACKET
(4 EACH)

48" X 12" LAMINATED BLACK 
MELAMINE SHELVES

(2 EACH)

CHROME FLUSH END CAPS 
FOR DIMENSIONAL HANGRAIL 

(2 EACH)

CHROME OUTRIGGER 
UPRIGHT BRACKETS

 (4 EACH)



PAGE 12 OF 26

PARTS IN CARTON:

ASSEMBLY INSTRUCTIONS MANUAL
#60873 - CHROME OUTRIGGER SYSTEM KIT 2

HARDWARE THAT NEEDS TO BE PURCHASED

DRYWALL ANCHOR 
(8 EACH)

#8 COUNTERSINK 
SCREW (8 EACH)

THESE PARTS WILL NEED TO BE PURCHASED AT YOUR LOCAL HARDWARE 
STORE. THE RECOMMENDED HARDWARE FOR THIS INSTALL, (8) #8 
COUNTERSINK SCREWS AND (8) 3/16 ANCHORS. IF MOUNTING TO STUDS, 
USE (8) #8 COUNTERSINK SCREWS AND 3/16 DRILL BIT.

YOU WILL NEED TO SUPPLY YOUR OWN TAPE MEASURE, LEVEL,  
DRILL OR SCREWDRIVER FOR INSTALLATION. 



ASSEMBLY INSTRUCTIONS MANUAL
#60873 - CHROME OUTRIGGER SYSTEM KIT 2

STEP 1 & 2

STEP 3

PLEASE REFERENCE PAGES 5 THROUGH 7 FOR WALL MOUNTING 
THE OUTRIGGER BRACKETS.

INSTALL THE 3” CHROME DIMENSIONAL HANGRAIL BRACKETS ON TO THE 
BACK OF THE OUTRIGGER UPRIGHTS. (SEE FIGURE 1)

PAGE 13 OF 26

FIGURE 1



ASSEMBLY INSTRUCTIONS MANUAL
#60873 - CHROME OUTRIGGER SYSTEM KIT 2

PAGE 14 OF 26

STEP 4
PLACE THE 3” CHROME DIMENSIONAL HANGRAIL INTO THE BRACKETS 
THEN INSERT THE ENDCAPS INTO EACH END. (SEE FIGURE 2)

FIGURE 2



ASSEMBLY INSTRUCTIONS MANUAL
#60873 - CHROME OUTRIGGER SYSTEM KIT 2

PAGE 15 OF 26

STEP 5
INSERT THE 12” CHROME SHELF BRACKET INTO THE OUTRIGGER 
UPRIGHTS AT DESIRED HEIGHT. (SEE FIGURE 3)

FIGURE 3



ASSEMBLY INSTRUCTIONS MANUAL
#60873 - CHROME OUTRIGGER SYSTEM KIT 2

PAGE 16 OF 26

STEP 6
PLACE THE MELAMINE SHELVES ONTO THE UPPER AND LOWER SHELF 
BRACKETS.



PAGE 17 OF 26

ASSEMBLY INSTRUCTIONS MANUAL
#60874 - CHROME OUTRIGGER SYSTEM KIT 3



PAGE 18 OF 26

PARTS IN CARTON:

ASSEMBLY INSTRUCTIONS MANUAL
#60874 - CHROME OUTRIGGER SYSTEM KIT 3

CHROME OUTRIGGER 
UPRIGHTS 
(2 EACH)

12" CHROME SHELF BRACKET
(8 EACH)

48" X 12" LAMINATED BLACK 
MELAMINE SHELVES

(4 EACH)

CHROME OUTRIGGER 
UPRIGHT BRACKETS

 (4 EACH)



PAGE 19 OF 26

PARTS IN CARTON:

ASSEMBLY INSTRUCTIONS MANUAL
#60874 - CHROME OUTRIGGER SYSTEM KIT 3

HARDWARE THAT NEEDS TO BE PURCHASED

DRYWALL ANCHOR 
(8 EACH)

#8 COUNTERSINK 
SCREW (8 EACH)

THESE PARTS WILL NEED TO BE PURCHASED AT YOUR LOCAL HARDWARE 
STORE. THE RECOMMENDED HARDWARE FOR THIS INSTALL, (8) #8 
COUNTERSINK SCREWS AND (8) 3/16 ANCHORS. IF MOUNTING TO STUDS, 
USE (8) #8 COUNTERSINK SCREWS AND 3/16 DRILL BIT.

YOU WILL NEED TO SUPPLY YOUR OWN TAPE MEASURE, LEVEL,  
DRILL OR SCREWDRIVER FOR INSTALLATION. 



ASSEMBLY INSTRUCTIONS MANUAL
#60874 - CHROME OUTRIGGER SYSTEM KIT 3

PAGE 20 OF 26

FIGURE 1

STEP 3
INSERT THE 12” CHROME SHELF BRACKETS INTO THE OUTRIGGER 
UPRIGHTS AT DESIRED HEIGHTS OR 21" IN BETWEEN EACH SHELF 
BRACKET. (SEE FIGURE 1)

STEP 1 & 2
PLEASE REFERENCE PAGES 5 THROUGH 7 FOR WALL MOUNTING 
THE OUTRIGGER BRACKETS.



ASSEMBLY INSTRUCTIONS MANUAL
#60874 - CHROME OUTRIGGER SYSTEM KIT 3

PAGE 21 OF 26

STEP 4
PLACE THE MELAMINE SHELVES ONTO EACH SHELF BRACKET.



PAGE 22 OF 26

ASSEMBLY INSTRUCTIONS MANUAL
#60875 - CHROME OUTRIGGER SYSTEM KIT 4



PAGE 23 OF 26

PARTS IN CARTON:

ASSEMBLY INSTRUCTIONS MANUAL
#60875 - CHROME OUTRIGGER SYSTEM KIT 4

CHROME OUTRIGGER 
UPRIGHTS 
(2 EACH)

4’ CHROME DIMENSIONAL 1/2” X 1 1/2” HANGRAIL 
(2 EACH)

3" CHROME DIMENSIONAL 
HANGRAIL BRACKETS 

(4 EACH)

CHROME FLUSH END CAPS 
FOR DIMENSIONAL HANGRAIL 

(4 EACH)

CHROME OUTRIGGER 
UPRIGHT BRACKETS

 (4 EACH)



PAGE 24 OF 26

PARTS IN CARTON:

ASSEMBLY INSTRUCTIONS MANUAL
#60875 - CHROME OUTRIGGER SYSTEM KIT 4

HARDWARE THAT NEEDS TO BE PURCHASED

DRYWALL ANCHOR 
(8 EACH)

#8 COUNTERSINK 
SCREW (8 EACH)

THESE PARTS WILL NEED TO BE PURCHASED AT YOUR LOCAL HARDWARE 
STORE. THE RECOMMENDED HARDWARE FOR THIS INSTALL, (8) #8 
COUNTERSINK SCREWS AND (8) 3/16 ANCHORS. IF MOUNTING TO STUDS, 
USE (8) #8 COUNTERSINK SCREWS AND 3/16 DRILL BIT.

YOU WILL NEED TO SUPPLY YOUR OWN TAPE MEASURE, LEVEL,  
DRILL OR SCREWDRIVER FOR INSTALLATION. 



ASSEMBLY INSTRUCTIONS MANUAL
#60875 - CHROME OUTRIGGER SYSTEM KIT 4

STEP 1 & 2

STEP 3

PLEASE REFERENCE PAGES 5 THROUGH 7 FOR WALL MOUNTING 
THE OUTRIGGER BRACKETS.

INSTALL THE 3” CHROME DIMENSIONAL HANGRAIL BRACKETS ON TO THE 
BACK OF THE OUTRIGGER UPRIGHTS. (SEE FIGURE 1)

PAGE 25 OF 26

FIGURE 1



ASSEMBLY INSTRUCTIONS MANUAL
#60875 - CHROME OUTRIGGER SYSTEM KIT 4

PAGE 26 OF 26

STEP 4
PLACE THE 3” CHROME DIMENSIONAL HANGRAIL INTO THE BRACKETS 
THEN INSERT THE ENDCAPS INTO EACH END. (SEE FIGURE 2)

FIGURE 2


